
Worksheet 2.3 Answers
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

Identify whole steps and half steps as follows:
DH = Diatonic half step, DW = diatonic whole step
CH = Chromatic half step, CW = Chromatic whole step

Diatonic: the pitch names of the two notes are one alphabet letter apart
Chromatic: the pitch names of the two notes are the same alphabet letter

Identify DH DW CH CW

CH given

 

DW given

 

DH

 

CH

 

NAME:
DATE:

DW

 

DW

 

7 8 9 10 11 12



Draw the second note

down DH

 

down CH

 

up DW

 

down DH

 

down DW

 

up CH

 

13 14 15 16 17 18



Draw the second note

up DH

 

down DH

 

up CH

 

down DH

 

down CH

 

up DW

 

19 20 21 22 23 24



Identify DH DW CH CW

DH

 

CH

 

DH

 

DW

 

CW

 

DH

 

25 26 27 28 29 30



Draw the second note

up DW

 

down DH

 

up DW

 

up DH

 

down DH

 

down CH

 

31 32 33 34 35 36



Draw the second note

up DW

 

down DW

 

up DH

 

up CH

 

down DH

 

up DW

 


